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74. TW^r f  iTTT 5Ti|f : ̂
f f f  fffw d  iT^'r qarrn
’P)’ f^rr fw:

( ^ )  fs rr  -cr^Tf f t  spt g r?
^  frrT^r wr3T5rl frr ?TJrr? f tt ^

vrarrjr ^qr

( « )  W7T f 5  w ff  Jr >?r?ri?ff
^  T jft I ;

(»7) zrf? =TT •■arr?r:5ff ^'r 
% f?fT T7T »riT t  ?

f f l in l  l i s r m  Jf 

waV («rt Jiffm f^T?) : ^
{^). % 5IiTlfqrT |fT -.TTiTf if

^rsrr^ 'i ^'r f f t r r r f : "  >r=r7T3rnfr 
I  f f k  TTTzj- ?r{^rtT ^  ^rerrwf

STFT ?rff | f  I  I '-TF^nr »jr?r fn»PT % 
«rr*T *TTf<i-T T r^ 'f  Jf ’ir^ r^ 'r  ^  t!T^^ 

I  I *r':5PTT j p t  5r)rrf%?T
^'t-tf *r ‘J»T "T̂ =T % «T  jt ^ *
% fjr>  3tt grsrrsri % ^r^rr^r,

*r 5r<rif?T TT^af ^  »rf ?r>r 
% ? r r f r f  ^r<t m*r

I  «

% ftrq rTITHH

75. Tm ?nf?nn.:
T7T fffil i f t t  f<r«rf >T^ IT  ̂ ^

^ . n  :

( ^ )  ^TT ’ST^TT % 'rilT? TitjJT 
W? fjTJTf % f^:r 771

f o r r  «rr;

( « )  3Tf? rfT 3rr^ ir

I :

!TtT
(»r) f e r^ ‘ »nr

«At f? m {  if x m
*nit {•sit V R  snrrr ftn?) : (^) ^
( ^ ) .  <T3rR tt;?3T ir n t

snrr% % ?rrt^n  'i^sn '< r fc*
t  I T?TT»r *T5sfr ^

sTTT^ % ».T«T f'?5T ?T
*T5?r fspqr *rafT I  1

? r f ^  fir^rfTsf ?r*T> ^T^fr % i j t t t t t
®5V JTHPTT ? r f ^  ^  !T fW

% iT^ =5rf5fr ^TIT  it ir 
s?T?-T»i k'n % ir JfrfcT f^cr?rf: ffr’TJT
%<fV I

*tr5> «^jfu wm?: irf^

76. fx o  5T«fiff n r r n m  ir iijt  : 

f:f^  w k  f<raif if^'r ?TT^ 55iT3r »ir>rr 
28 ?T*F^, 1 978 =r ?TaT'’:T f^  5T55| 

»to 4 7 2 6  % orT’’ % »tftJ t  IT? f̂Tr?f
ir r r  :

( ^ )  m  ^ ‘t TfTT t  fsp »rrft 
sr^ 'sr 5 ^ ^  ^rm in fnirW  ^  f^ r" ^ -  
f̂ TTSlf % H*Tir *T6JT ^  8 5

ijftT <TT̂ 't ir ^  ?T?rr^^
«ft ;

( ^ )  ^  JT f tT ^  I  %  7 6 6
IsfJJTT trftr 'TT^ if T5 lfTl5>fy ;

(»r) ^  »r't ? i?  I  fap »T5JT s r ^  
^  ^t«r % ^ c ^ ife r




